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148 No.1a—k [ U EARHEEA HERR BR + BeH/ (el + AGK) - FIRARY =
HEIE T R4 a7 T R4 JIENE) 2 B K4 BGE | Bl |AGH| FiiREk NEALAR %R
1 ZiErEmE NI 6 -] 3 FREER ANITE= 1 | 14083 |=1&#Eh 24 4 8| 0.014783 4.735217
2 fLZ NN BHEFEE 3|-]16 JIASEETT FEEETTAL 2 | 20956 |FEEEX 21 3 14 0.015144 3.584856
3 ZiEEmE EHEBE 6 -] 2 A/ ATHE HERER 3 | 23893 |fFEETTAL 21 3 15[ 0.015696 3.567637
4 NI ) JANITECS=) 6 |- 0 FLENEIN JIFHEETT 4| 12090 |/vbLFH= 18 2| 15| 0.015295 2.530160
5 HEEEZR R 6 -] 3 hFFR= BHRER 1 5 | 16828 |/l #1 16 2 15[ 0.014967 2.501162
6 ZierEn H/ WTHHE 6 |-| 1 NI ] FARREEL il 6 | 17636 |JIIRHETT 14 2 18| 0.015643 2.421857
7 =X 3 FREEX 6 |-| 2 EEBSE JIFHETT 7 | 24136 [/ mRs 14 1| 19| 0.016057 1.408185
8 ANTIES ) A/ NTHEE 3 |-] 6 gL BRER 8 | 11616 |3Em*s 14 1 20| 0.015500 1.396265
9 NLFZR= FAESAL 6 |-| 3 BHREE ERER 9 | 22441 |HEHER 14 1 21| 0.018601 1.381399
10 FEEER JIFHETT 6 |-| 3 FREETTAL A,/ RTHRE 10| 11596 |#HAmEiL 10 1 21| 0.015387 1.307194
11
34 No.33—k #H)—5: D= HERmR R+ BGR/(BGH + AGK) - FIRAN =
HEIE AT R4 Z2a7 T K4 | 25 8% 5 K4 WEGEL | WhA [AGH| FEdREk | JRATRE
1 HE K PRI 6 |-| 4 mROE ZERE 1 | 13526 |#BEE % 20 3 15[ 0.015721 3.555708
2 JiBZ= MRS — 0|-| 6 L8R FH & 2 | 19783 [rEE= 20 3] 16| 0.017732 3.537824
3 HE % MRS — 6 |-| 2 THEZ =8 OB 3| 18141 |%B&RB 22 3 18| 0.016811 3.533189
4 AR LEER 6 |-| 5 N (L% 4 | 18272 |hFbmRis 21 3| 19| 0.016396 3.508604
5 EPARE FE f# 5|-]1 6 ZERR =8 % 3 5 | 26621 [\LEEHA 20 2| 14| 0.017379 2.570856
6 HE THEZ 6 -] 3 R R I D= el 6 | 19311 |BM {8 21 2 15[ 0.017725 2.565608
7 HE K EViE 2 |-| 6 MRS — (L EHER 7 | 17156 |#vEiE— 14 2 16 0.017032 2.449635
8 AR THREZ 6 |-| 4 FE f# =8 % 8 | 16192 [)ihm=i= 14 1| 20| 0.017113 1.394652
9 ZEER Nz 6 |-| 2 MRS — = % 9 | 22621 |=® % 14 1| 23| 0.018301 1.360077
10 wROE LR 3 |-| 6 RA # THEZ 10| 20815 |#R % 14 o 24| 0.016679 0.351742
11
54 No.5a—k [ U KA FIl HERER BR + BeH/ (el + AGK) - FIRARY =
HElE AT R4 a7 T R4 JIENT) 2 B K4 BGE | Bl |AGH| FiiREk NERLAR %R
1 KHE#H= EEHE 0|-| 6 N&aR— B 1 | 25539 |PERFEM 23 3 13| 0.018662 3.620227
2 KA BEEE 4 |-]16 FAREER BITH— 2 | 27580 |fkiE 19 3| 11| 0.017881 3.615452
3 KEH= AEESE 6 |-| 5 ANAIE:: - PLRFIE 3 | 28568 |BITH — 21 3 17( 0.018643 3.533989
4 REHE EBE W 6 |-| 2 KA BREER 4 | 15443 | KE#H= 18 3| 16| 0.015409 3.514003
5 NERB— BITH— 3 |-]16 EiE RS 5 5 | 21085 |JII&E— 19 2 13| 0.017906 2.575844
6 KEH= NI 6 |-| 4 RIRXHE PNl bl 6 | 25626 |/MNi#m= 20 2| 20| 0.018159 2.481841
7 KHE#H= nN&e|— 6 || 1 AEEE BREER 7 | 23658 |AaEBESE 17 2| 18| 0.018295 2.467419
8 BIRAE ANAIE 3 |-| 6 BITH— FRFE 8 | 19609 |HixHE 13 1 20| 0.017754 1.376185
9 i KAF 1 |- 6 BHESL PERF 9 | 25480 |FEELER 13 1| 22| 0.018074 1.353355
10 N&ERA— EESS:Y 4 |- 6 BH— M= 10| 23000 | A4 11 0| 24 0.017686 0.296600
11 11
748 No.73—k #H)—5: HHBE HERR MR+ BGR/(BGH + AGK) - FIRAN =
HEIE AT R4 Z2a7 T K4 | 25 B 5 K4 WEGEL | WhA [AGH| fFEdREk | JRATRE
1 BENRE JLERERER 5|-|1 6 [T P NE v 1 | 23163 [#HExH 24 4 71 0.018672 4.755522
2 B4)11%088 HiE= 1 |- 6 R E— FHER 2 | 21109 [iLAx 1= 22 3| 11| 0.018773 3.647894
3 JLERERER A E— 6 [-| 1 HE— NEEEES 3 | 25443 |FfE— 18 3| 12| 0.019247 3.580753
4 ENRE [ITE: N 6 |-| O BSJ11%088 1ZHFAE 4 | 25998 [dvmEERER 21 2 15[ 0.019559 2.563774
5 AffERZ FHER 6 |[-| 5 —HEFA KHEFX 7 5 | 21281 |KM&Ex 18 2| 18| 0.019932 2.480068
6 ENTEE HiE= 2 |-| 6 L EBER HE— pil 6 | 27417 |#)IE— 14 2 18 0.019732 2.417768
7 A 5 HHEE 6 |-| O N RAHE— 7 | 27059 |AF#EZ 16 2| 22| 0.018915 2.402138
8 24112088 PNEEEEES 6 |-| 5 HPiE= {ZHFAE 8 | 27642 |B8)IIEHA 13 2| 21| 0.018976 2.363377
9 ENTE HE— 1 |- 6 FHER KHE#X 9 | 27112 |2NwmE 14 1 18 0.017401 1.420099
10 JLEHBER ENETA 4 |-| 6 B5J11%088 RAHE— 10| 24763 |EHE= 14 1 22| 0.019009 1.369880
11 A & ZHFA 4 6 HiE= )M — 11| 27917 |[1=EFA 14 0| 24| 0.019867 0.348554
9o#f No.9a—k [ U NSRRI HERR BR + e/ (el + AGK) - FIHRE =
HAEIE T RA a7 T R4 JIENT) 2 B K4 BEGH | Bl |AGH| FEiiR%k BT 7%
1 FESA 28 & 6 |-| 3 EARE— MR FRSF 1| 27672 %@ 19 24 4] 10| 0.020736 4.685146
2 BE RixERR 6 |-| 2 b4 AN=T 2 | 25526 |FESA 20 3 13| 0.019248 3.586813
3 285 & KE # 6 |-| 4 | BEEEE =8/EE 3 | 26930 [k @ 20 3| 17| 0.022178 3.518363
4 FESA EARE— 2 |-]16 BE 1 TFEIEH 4| 27691 |TZEIEHS 20 2| 14 0.023217 2.565018
5 NGRS INEERIE 6 |-| 5 FEEIEH =A%t 9 5 | 28153 |HixsEk 15 2 16 0.021390 2.462481
6 REFA BiRER 6 |-| 2 28 & BEELER wo| 6| 27940 (23 & 17 2| 19| 0.022467 2.449755
7 EARE— UN=T 2 4 |-]1 6 INGES T KE W 7 | 28458 |fuisBse 18 2| 21| 0.020419 2.441119
8 BE =/EtL 6 -] 3 RixeRR FIEIER 8 | 26723 |mA%— 15 1 18 0.019958 1.434587
9 FESA BEELER 6 |-| 2 NI =A%t 9 | 28060 |=&iE+ 17 1 21| 0.023224 1.424144
10 28 & INGESS 3 |-]16 R 1 KE W 10 | 27342 |/h&EiE 14 1| 23| 0.019409 1.358969
11 EARE— FEEIEEA 6 0 RixERR BEEIER 11| 28335 |/BEEEE 12 1 20| 0.022726 1.352274
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24f No.2a—k U5  EEHOF HERR R + BGRE/(GHE + AGH) - FMENK =
HEIE T R4 Za7 T R4 JENT) & B35 K4 WEGH | B |AGE| SRR NEALEREL
1 RIFENF FAEEEF| 2 || 6 ThIIFH BIL=F 1| 19816 |giL=EF 24 4 12 | 0017135 4.649532
2 BT T 0 |-| 6 HART tEBEH DT 2 830 |[Th7IFHL 22 3 10 | 0015491 3.672009
3 | FARERTF HaEF 6 |-| 2 PERRF CHFTF 3| 13171 |FAAEAET 20 3 10 | 0015418 3.651249
4 RIFENF ThIIFH 6 |-| 1 mIEF EIDBF 4 | 28488 |MAHRT 19 3 12 | 0017940 3.594963
5 BILEF EEHOF [ 6 |-| 5 DT CHFTF 2 5 | 19639 |kEHOT 22 3 14 | 0018686 3.592425
6 RIFENF T 1 |- 6 | AEEET FIRETF # | 6| 6809 [T 18 2 15 | 0018033 2.527422
7 hIIFHH EEHOF [ 4 || 6 AnLEF Ha®F 7| 27918 |[—E¥ETF 15 1 21 | 0.020053 1.396614
8 BT ZHFF 2 |-| 6 YT EIDBF 8 | 11996 [=2HAITF 12 1 19 | 0014095 1.373002
9 RIFENF PEREF 3 |-| 6| EEHOF CHFTF 9 | 26266 |hiFEET 12 1 19 | 0018063 1.369034
10 | FIAGRERTF AILEF 6 |-| 1 mIEF Ha®T 10| 18921 |Eao#T 8 1 20 | 0017740 1.267974
1 hNFH R BB TF 6 |-| 1 YT FIRET 11| 14459 |HIIEF 4 0 24 | 0017285 0.125572
44 No.4a—k -5 HzEET HERR B R + BoB/ (e + AGH) - FRMAREK =
HEIE T K4 za7 T KA JIERE| < B3F 5 K4 WsGHL | B |AGE| SR NEAEBR
1 EEYF BEXF 1|-] 6 TTHEBF BlBHRET 1 | 20555 |H#ZiEET 24 4 7| 0.020834 4.753360
2 HERLTF EETETF 1|-| 6 MR F WUz kT 2 | 19784 |fTHBT 24 4 8| 0.019184 4.730816
3 BEXF MRS T 6 |-| 2 WE=EF AlSEF 3| B [ERT 19 3| 14| 0.021273 3.554485
4 YT THET 6 |-| 3 wERF BB F 4 | 24766 |BLEXT 18 2| 14| 0.018970 2.543530
5 BIFRET Yoo e+ | 6 |—| 2 BT AlEEF 4 5 | 20556 |=WSEET 18 2| 15| 0.021277 2.524178
6 Ay T EBETEF | 0 |-| 6 BRXF WE=F Mo| 6| AR |tefT 16 2| 20| 0.022697 2.421747
7 THET Yoo s | 6 | —| 1 ZFHRET MO F 7 | 18233 |[#E#LTF 16 2| 22| 0.019766 2.401287
8 HERLF Al F 6 |-| 5 EBETETF BB F 8 | 20221 |#E=T 14 1 18| 0.019426 1.418074
9 By F WEZ=F 3 |-| 6 | ®ewEF TR F 9 | 21522 |HFHATF 16 1| 21| 0.022884 1.409548
10 BEXF =IEHEF | 5 |-| 6 wERF MR F 10| 23437 [@€vF 10 1| 21| 0.018434 1.304147
11 TTHREBF BB F 6 |-| 3 EBETETF WE=F 11| 21993 |#EBETET 9 0| 24 0.020758 0.251969
64 No.6a—k #HY—%:.  KIBHIZ HERE R+ BGE/(BGH + AcH) - FilREE =
HEIE T KA Za7 T KA JIENT) <% B3E 5 K4 BsGH | B |AGE| SEmbRik JEAL £~ %
1 FEaRPSF B ORTF 6 |-| 3 P ERTF FHIPE 1| 27418 [ =RT¥ 24 4 7| 0.018606 4.755588
2 IINRIBTF HI R 0 |-| 6 INHBRF KiEH & 2 2 | 27126 |[tE4 AW S F 19 3| 12| 0.018587 3.594316
3 #HORF INHEBF 6 |-| 1 ROEF HaT8E 3 | 18196 |HhE#HETF 21 3 16| 0.019927 3.547641
4 | tEARDSF hERF 6 |-| 2 AN EDB T 4 | 22760 [/NHEBF 19 2| 13| 0.020267 2.573483
5 FHIME | KEASZ | 3 |-| 6 BT RAaTE 6 5| R [EI%T 14 2| 10| 0.023099 2.560235
6 |EAKRPSTF HII R 1|-] 6 #HORTF R®OEF Mo| 6| 24379 |R T 16 2| 14| 0.021846 2.511487
7 hERTF KIGH S 2 6 |-| 5 | FHIWE INHEBF 7 | 25249 |KigHEz 16 2| 17| 0.020893 2.463955
8 IR F HAaTH 1|-]16 HII R A F 8 | 23885 [#)Il % 10 1| 19| 0.020868 1.323960
9 | ARSI F R OEF 6 |-| 1 KIEH S 2 HaTHE 9 | 24319 |R&THE 9 1| 21| 0.023726 1.276274
10 B ORTF FHRININDE | 6 || 2 INIRIBF INHEBF 10| 22076 |E/IFE 11 0| 18| 0.020821 0.358489
11 hERTF LB F 6 |-| 3 HIl R ROETF 11| 25737 [/HR#EF 5 0| 24| 0.021239 0.151175
8# No.8a—k #H)—4: BARIEE HERR B R + BGE/(BCH + BGHD - FERRE =
HElE 7 R4 37 T R4 NERz| 2 B& K4 BEGHL | Bs | AGH| EEfREk JEALF% %
1 BIRGF RS 4 |- 6 =ishEsE WS F 1| 27811 |#EAmE 24 4 11| 0.023450 4.662264
2 KHEEE " EF 2 |-| 6 BIFRHE [EENIEES 2 | 19469 |eHEiT 22 3| 13| 0.021545 3.607026
3 RS AIFHE 6 |-| 4 FHEEF FEHLT 3| 27865 |88 =T 20 3| 15| 0.021882 3.549547
4 SIREGF =iBiEsE 6 |-| 1 KEEHE ERELOSR 4 | 20554 |EtEEx 18 3| 15| 0.021619 3.523835
5 HHEREF (NGRS 6 |-| 2 | kKELOX FEHLT 8 5 | 25728 |tz 21 2| 17| 0.020073 2.532559
6 BIRGF " EF 6 |-| 5 RS FHfEBTF | 6| 10278 |EIREBT 19 2| 18| 0.017817 2.495697
7 Sl e (NGRS 6 |-| 4 WHAEF BIRAE 7 | 20557 |EREE 17 2| 18| 0.022251 2.463463
8 PR TR T 4 |- 6 i BT FEBELOSR 8 | 27698 |hHEMHmT 18 1| 18| 0.023106 1.476894
9 SIREGF FHEBF 3 |-| 6 AR TFEHT 9 | 28085 |FE#hiT 16 1| 21| 0.024990 1.407442
10 QpEERES WHEREF 6 || 1 KEEHE BFRAE 10| 21519 |kEL D& 9 1| 22| 0.022323 1.268000
1 Sl e EELOSI | 0 |-| 6 8 EF FHfERF 11| 23926 [kHE#&EE 8 0| 24 0.020923 0.229077




